=

)\d(%ﬂf}b ~E)

ARV Ry b

EEN | EREEEWD | txB d TR by b C H
20 27 2.0x25 | W3/8 M6 x 25 25 78
25A 32 2.0x25 | W3/8 M6 x 25 25 81
30A 40 2.0x25 | W3/8 M6 x 25 25 85
40A 50 2.0x25 | W3/8 M6 x 25 25 91
50A 63 2.0x25 | W3/8 M6 x 25 25 97
65A 75 2.0x25 | W3/8 M6 x 25 25 104
75A 90 2.0x25 | W3/8 M6 x 25 25 110
100A 125 2.0x25 | W3/8 M6 x 25 25 130
125A 160 2.0x32 | W3/8 M10x 40 32 148
150A 180 2.0%32 | W3/8 M10x 40 32 155
200A 250 2.0x32 | W3/8 M10x 40 32 192
R e KCPER /S RB {1
HH SPHC PR E R @ o ™1
E HE wE HE ik
5=k
HE 10110017101 RN
- _ . SHEET
e HR AT VIR RS anwsn| A3




